x of et oFdA] 3x3y 4+ 5y —xz+9xy —4 of tffote] o2 BI] 5 &2
()

Q WAz = Aestd
3yx3 + (9y — 2)x + By — 4°]t}.
© LBz r Heshd
5y —4 4 (9y — z)x + 3yx3 o]t}
© Fol7l thALL x of ik 3 ZpAjolct.
@ x* o AlgE 301t

@ A2 -4 olth

ORONG) ® 0,606
® 0,0 ® Q,6,e,06
©®0,.6,6,8,.0



2~
e

I

el

x30

2.

@ 6 ® 8 @ 10 ® 12

O 4



o
Hlo
,_m.o

Tod

A3 +2x+1=a(x-1)2+b(x-1)+col xl &

o

3.

@ 8 ® 6

@ 2

@ 3



=

oo

[ Jorell e 58 A2 4 gole,

(B +ax2+3x-2)+ 2+ e+ h=x+2




5.

x+y+z=1Lxy+yz+zx =2, xyz=39 W, (x+1)(y+1)(z+ 1)
o] #= otofet.

D
=%






7. xofl TR B4 ma? +nx+1E x+ 12 YFH YA 7E 50]4,
x =22 U Y z]7} 3]t o] off, A4 m —n 9] 327

13 14 16
3 3 3



8. - =24 {(@a+b)"+ (a—b)"}*—{(a+b)"—(a-b)"}9]
*2?

@ on @ 2n+1 @ 2n+2 @ 2n+3 @ 2n+4



